

Analyse 1 - TD 1

NON CORRIGÉ

Timéo Pochin

September 24, 2021

Exercice 1

a)

$$\begin{aligned} & 5x + 2 \geq -3 \\ \Leftrightarrow & 5x \geq -5 \\ \Leftrightarrow & x \geq -1 \\ \Leftrightarrow & x = [-1, +\infty[\end{aligned}$$

b)

$$\begin{aligned} & 2x - 1 < 4x + 3 \leq -x + 6 \\ \Leftrightarrow & (2x - 1 < 4x + 3) \wedge (4x + 3 \leq -x + 6) \\ \Leftrightarrow & (-4 < 2x) \wedge (5x \leq 3) \\ \Leftrightarrow & (-2 < x) \wedge (x \leq \frac{3}{5}) \\ \Leftrightarrow & x = \left] -2, \frac{3}{5} \right] \end{aligned}$$

c)

$$\begin{aligned} & |x - 1| < 4 \\ \Leftrightarrow & (x - 1 < 4) \wedge (x - 1 > -4) \\ \Leftrightarrow & (x < 5) \wedge (x > -3) \\ \Leftrightarrow & x =]-3, 5[\end{aligned}$$

d)

$$\begin{aligned} & |x - 2| \geq 3 \\ \Leftrightarrow & (x - 2 \geq 3) \vee (x - 2 \leq -3) \\ \Leftrightarrow & (x \geq 5) \vee (x \leq -1) \\ \Leftrightarrow & x =]-\infty, -1] \cup [5, +\infty[\end{aligned}$$

e)

$$\begin{aligned} & |x - 2| \leq |x| \\ \Leftrightarrow & (x - 2)^2 \leq x^2 \\ \Leftrightarrow & x^2 - 4x + 4 \leq x^2 \\ \Leftrightarrow & 4 \leq 4x \\ \Leftrightarrow & 1 \leq x \\ \Leftrightarrow & x = [1, +\infty[\end{aligned}$$

f)

g)

$$\begin{aligned} & \sqrt{x+1} < 2 \\ \Leftrightarrow & (x+1 < 4) \wedge (x+1 \geq 0) \\ \Leftrightarrow & (x < 3) \wedge (x \geq -1) \\ \Leftrightarrow & x = [-1, 3[\end{aligned}$$

h)

$$\begin{aligned} & x^2 + 1 \leq 3 \\ \Leftrightarrow & x^2 \leq 2 \\ \Leftrightarrow & (x \leq \sqrt{2}) \wedge (x \geq -\sqrt{2}) \\ \Leftrightarrow & x = [-\sqrt{2}, \sqrt{2}] \end{aligned}$$

i)

$$\begin{aligned} & x^2 + 3x < 4 \\ \Leftrightarrow & x^2 + 3x - 4 < 0 \\ \Leftrightarrow & (x - 1)(x + 4) < 0 \\ \Leftrightarrow & (x < 1) \wedge (x > -4) \\ \Leftrightarrow & x =]-4, 1[\end{aligned}$$

j)

$$\begin{aligned} & x^3 - 3x^2 + 2x \geq 0 \\ \Leftrightarrow & x(x^2 - 3x + 2) \geq 0 \\ \Leftrightarrow & x(x-1)(x-2) \geq 0 \\ \Leftrightarrow & ((x \geq 0) \wedge (x \leq 1)) \vee (x \geq 2) \\ \Leftrightarrow & x = [0, 1] \cup [2, +\infty[\end{aligned}$$

k)

Exercice 2

$$f : x \mapsto ax + b$$

$$\begin{aligned} & (|f(-1)| = 3) \wedge (|f(2)| = 2) \\ \Leftrightarrow & (|b - a| = 3) \wedge (|2a + b| = 2) \\ \Leftrightarrow & (b - a = 3 \vee b - a = -3) \wedge (2a + b = 2 \vee 2a + b = -2) \\ \Leftrightarrow & (b - a = 3 \wedge 2a + b = 2) \\ & \vee (b - a = 3 \wedge 2a + b = -2) \\ & \vee (b - a = -3 \wedge 2a + b = 2) \\ & \vee (b - a = -3 \wedge 2a + b = -2) \end{aligned}$$

$$\begin{aligned} & b - a = 3 \wedge 2a + b = 2 \\ \Leftrightarrow & 3a = -1 \wedge 3b = 8 \\ \Leftrightarrow & a = -\frac{1}{3} \wedge b = \frac{8}{3} \end{aligned}$$

$$\begin{aligned} & b - a = 3 \wedge 2a + b = -2 \\ \Leftrightarrow & 3a = -5 \wedge 3b = 4 \\ \Leftrightarrow & a = -\frac{5}{3} \wedge b = \frac{4}{3} \end{aligned}$$

$$\begin{aligned} & b - a = -3 \wedge 2a + b = 2 \\ \Leftrightarrow & 3a = 5 \wedge 3b = -4 \\ \Leftrightarrow & a = \frac{5}{3} \wedge b = -\frac{4}{3} \end{aligned}$$

$$\begin{aligned}
 & b - a = -3 \wedge 2a + b = -2 \\
 \Leftrightarrow & 3a = 1 \wedge 3b = -8 \\
 \Leftrightarrow & a = \frac{1}{3} \wedge b = -\frac{8}{3}
 \end{aligned}$$

Donc

$$(a, b) \in \left\{ \left(-\frac{1}{3}, \frac{8}{3} \right), \left(-\frac{5}{3}, \frac{4}{3} \right), \left(\frac{5}{3}, -\frac{4}{3} \right), \left(\frac{1}{3}, -\frac{8}{3} \right) \right\}$$

